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Topic 0, A
A

Question No : 1 - (Topic 0)

You have populated millions of products in your test system and you are ready to move
them to your production system. Which would you use?

A. Update Server

B. Assignment Management

C. Enterprise Integration Manager (EIM)

D. Application Deployment Manager (ADM)

Answer: C

Question No : 2 - (Topic 0)

What is displayed in the Thread Bar if the Thread Title property is null in the thread
properties?

A. A hyperlink is not added to the thread bar.

B. A question mark is displayed in the thread bar.

C. The Title property is used to populate the thread bar.

D. The name of the business component is used to populate the thread bar.

Answer: C

Question No : 3 - (Topic 0)

You want to add a business service step to a workflow. Which three are steps that you
might perform to configure the business service step? (Choose three.)

. create additional process properties

. assign a value to the Business Service Name property

. assign a default value to the Object Id process property

. assign a value to the Business Service Method property

. Create input arguments by right-clicking the business service step and selecting Show
Input Arguments

F. create one or more output argument records for the business service and set the type to
Business Service
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Answer: A,B,D

Question No : 4 - (Topic 0)

Which three of the following must you configure in order to create a task? (Choose three.)

A. Task flow

B. Task view

C. Task applet

D. Task screen

E. Task chapters
F. Task group item

Answer: A,B,F

Question No : 5 - (Topic 0)

Which Server Administration feature can be configured to notify the Administrator when a
server component reaches an undesired state?

A. Audit trail

B. System Alerts

C. Siebel State Model

D. Component Event Logging

Answer: B

Question No : 6 - (Topic 0)

Which EIM Delete process option should you use to delete just the rows from an EIM table
that contain a specific word?

A. DELETE MATCHES
B. DELETE EXACT
C. DELETE ALL ROWS
D. DELETE WHERE

Answer: A
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Question No : 7 - (Topic 0)

For which two can you define scores in order to use scoring with Assignment Manager?
(Choose two.)

A. Criteria

B. Rule group
C. Candidate
D. Mode

Answer: A,C

Topic 1,B
B

Question No : 8 - (Topic 1)

Where would you find Siebel specific tags that begin with swe:

A. in cascading style sheets

B. in Siebel configuration files

C. in Siebel Web template files

D. in Siebel Web Server Extension files

Answer: C

Question No : 9 - (Topic 1)

What is the purpose of the SSA Primary field in a MVG applet?

A. It allows users to select more than one primary.

B. It indicates which child record cannot be deleted.

C. It permits users to see and change the primary child record.

D. It allows users to change which field is referenced in the child business component.

Answer: C

Question No : 10 - (Topic 1)

You have reached a critical point in your development, and you wish to back up the objects
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you have configured so far. Which is NOT a valid method for backing up your object
definitions?

A. Copy the local .srf file.

B. Copy the local .dbf file.

C. Check in projects into the server.

D. Use archive files to back up repository data.

Answer: A



